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12. Vivian made 63 free throws out of 89 attempts during
the basketball season. WWhat percentage, to the nearest
percent, of her free throws did she make during this sea-

son? % /77! /// = A Hart v _é_ﬁ

A 41% —_— =

B 63% Rttepplts 89
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16. If the probability that it will rain tomorrow is 0.7, what is
the probability that it will NOT rain tomorrow?

A 00 é%/l,g/c 7 d’j/;‘?f/’
% [oL]]
OCCltin &
—=C. 03 4 . : —
oo 7 &CC[{/’M}?
ESILT
AT =
X = - =
17. Which of the following arranges
ascending order? ASC 9&049 Zaz\/-___;b %f/l

. 5/8¢5/7 <4/13
G. S5/7¢4/13 ¢5/8

H. 5/8 ¢4/13 ¢5/7
J. 5/7¢5/8c4/13
. 4/13 <5/8 < 5/7

/%j/er dentrr; naisp
Sran e 4T
s g Smat)eST
e

13. Karen spent 2/3 of her allowance on clothes and |/5 of
her allowance on cassettes. VWhat is the difference (lar-
ger minus smaller) between the portions spent on
clothes and on cassettes?

2 /kﬂ pea bl AJEars

A
S DVl o
B SR e e
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I8. What is the average of 3/8 and 0.065 ?

AR G0sizse b ekl
B. 0.1825 =
LA AL 05D
D. 0375 57,375’%47'”59(
PR = o
=
P

O Ll

|4, Koko has $250 to spend on photo equipment. How
much money would she have left if she buys a $140.00
camera and must also pay 8.2% of the $140 in sales tax?

110 | 082= 151 4%

—F $ 98.52
G. §101.80 e "
nostow 27y JSLHE = 9857
K. $130.05

[9. You have been asked to make punch for a wedding re-
ception. The punch recipe calls for 6 parts fruit juices to
2 parts soda. To make 24 quarts of this punch, how many
quarts of soda should you use?

A 3 far7s  FRuiT Tuice é 3
SRR meig o
;ﬂj i Zﬁfj @ :
= G GorZd=

-

15. A rock group gets 30% of the money from sales of their
newest compact disc. That 30% is split equally among the
5 group members. If the disc generates $1,000,000 in
sales, how much does one group member receive?

J0 % 7 milliow equals
400,070 ‘
K200, 0= 5= 4,000

A § 30,000
B. $ 50,000
C. $ 60,000
D. $200,000
E. $300,000

20. If ¢ is a positive integer that divides both 75 and 90, but
divides neither 18 nor 10, what should you get when you
add the digits in ¢ ! : ¥
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LEARNING CENTER
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ACT ARITHMETIC PROBLEMS |

FRACTIONS, DECIMALS, PERCEN

ol 4 )85~ JIE% - J/g

I. To keep up with rising expenses, a motel manager needs

TS, AVERAGES VARIATION, ETC.
o
Do 1 Selet?  1Gdfect /—"
SISl TS e

to raise t:‘le $30.00 room rate by 18%. VWhat will be the —2 Q ; Z}Wf/b' 4e 56 i
new rate! g ‘ :
F. $30.18 [E/SI15
G. $31.80 ZM/Q WAy EA L o B 2= (
H. $33.00
> $35.40 j‘%ﬁ‘% /é’? _ﬁ 5. yp 6. Mario bought | compact disc for $8.95 and 3 others for
K. $48.00 ’%/.Bf + # g‘y() — —ﬁ?’ 35’%“ $7.99 each. What was the average price per disc he paid

for these 4 compact discs?

2. Contributions to a charity are made by each of 5 compa- - 4 _ ' :
nies as indicated in the table below. F. $8.95+%799 A/e /g fép 4/%;
3
Compa AlB [ €D |E G. $8.95+$7.99 f %%
e ‘ ‘ ‘ 4 3 7 € Wor requent
Conrtribution H. $8.95 + $7.99
in dollars 0 ’300 ‘BOO’ISO }270 5 gF //'f//éa e/ ﬁ,L
_ . $895+$799 EAch efeqr ea7 /5
What is the average of the contributions made by the 5 4 [), /
companies? Ay Sim 61 EATRies = K $895+3(5799 CONVSTER .
4
A. $187.50 Numper 27 GTréS
_——} B. $210.00 P 7. The price of a pumpkin is directly proporticnal to its
C. $250.00 /]\/,- @+ Bee 4+ e 4o +£7€ weight. |f a pumpkin that weighs 15.0 pounds costs
D. $262.50 S $3.25, how much will an 11 4-pound pumpkin cost?
E $35000 AV= /fos5eo = 5 =2/0 ol LS LT #3 i L/ _;Z
3. For a party, you've purchased 3 kinds of cheeses: 3 G $1.23 or // 1/1
i pounds of Colby cheese at $1.50 per pound, 4 pcunds of H$195 <oz 00 Pr ;
Lf/gi I/Cf cheddar cheese at $2.00 per pound, and you've forgotten —]. $247 3.2 ;_ﬂ "/:f rfON A éf 25’)/1 Z/
@ how many pounds of Monterey Jack cheese at $2.50 per K. $4.28 —~—'-/——5—_~— = —77—;/*‘ = X= 2.7
pound. You have a nacho recipe that calls for | pound of -
becﬁ“% Mon(ere}’ Jack CheeSE. and You want to [(now hOW much 8 What 1S the greatest Prlme fa.ctor Of 520 A
e nacho cheese sauce you can make. If your cheese pur- < Sint L \Jour /to’[)‘ //l// £
\) chase totaled $22.50 (vxf!thout tax), how many pounds of -] /f’g’{ f-ﬁ G o 7%’
I \H, Monterey Jack cheese did you buy? I | A e C'//’/ oL
-[ g _ C. “a Z
" s 50 # ). bp Bt 520
; e et )
S fal. pEEs T E 7 SZofod peaid | 1D F0
vr{;\ll\/ I { /g_ o8 9. In scientific notation, 2,450,000,000 = ?
ke (St = A (2% 10) + 450 ?/L‘C’VW}L
/ﬁ,,g /0. o B. 245x |0/ F/ACES
9
4.  On Saturday Sid received his pay and spent 2 of it. On C. (2x10) :‘ 450
Sunday he spent "4 of the remaining money, and on _;}E i:ix :810
g . X

Monday he spent "2 of what remained from Sunday. If
$4 then remained, how much pay did he receive origi-

e
() 5) 4 =4
v=4f

/50 (/Jﬂ“'{ljé’?c? az_
LI Lo PN D

A $12
B. $I6
C. 324
— D. 332
E. $64

You can &

b pch WS

10. A box of cereal contains [8% cups of cereal. At most.
how many persons can you serve from this box of cereal

if each serving must be at least % cup?

14 /‘8’ en! ?6‘
yese

2 67;75/ /(/5;4/,/ [?///4{4
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ot

B

G.

H.
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Lo TR
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ACT ARITHMETIC PROBLEMS |
FRACTIONS, DECIMALS, PERCENTS, AVERAGES, YARIATION, ETC.

Lot Vibe 15

5. B-7-j4- !l"’
l.  To keep up with rising expenses, a motel manager needs
to raise the $30.00 room rate by 18%. What will be the ' | TRE ;qr?/
new rate! B. 5
X-30 _ p. /B € 7 J .,u{\ = [3{ Similp*r
Foo$3018 T35 D. 15 7 i
. /
G. 3$31.80 ST A E 7 A 2 To e
H. $33.00 K~ 3EE -2 =4 pare
$35.40 Y= ?}/‘f/ﬁ 6. Mario bought | compact disc for $8.95 and 3 others for

$7.99 each. What was the average price per disc he paid
for these 4 compact discs?

$48.00 wé/e 30x /. /8= 3550

2. Contributions to a charity are made by each of 5 compa- A7L W C
nies as indicated in the table below. F. $895+ 57_9 (;/ 1 6’4 Ere
Company A ’ B | C ‘ D [ E i 395+ , boftb

Contribution
in dollars

RN - et

J. §s95+$79 are W _

180 )270

0 ' 300 | 300

What is the average of the contributions made by the 5

companies! %8.95 + 3 $7.99
A $18750
$210.00 5 7. The price of a pumpkin is directly proportional to its

. $250.00 . weight. If a pumpkin that weighs 15.0 pounds costs
D. $262.50 //@ 'i;.;- LA $3.25, how much will an | 1.4-pound pumpkin cost?
E. $350.00 1LY

Fososs 5 _ It
3. For a party, you've purchased 3 kinds of cheeses: 3 G. $1.23 /5 /—{,

pounds of Caolby cheese ar $1.50 per nound, 4 pounds of H $195
cheddar cheese at $2.00 per pound, and you've forgotten v$2.47

gr%"”"

8. What is the greatest prime factor of 5207

M Wi

A 5
I

how many pounds of Monterey Jack cheese at $2.50 per $4.28
pound. You have a nacho recipe that calls for | pound of
Monterey Jack cheese, and you want to know how much
nacho cheese sauce you can make. If your cheese pur-
chase totaled $22.50 (without tax), how many pounds of

Monterey Jack cheese did you buy?

17 e
vitd GuesTron/ becawr Y- =\ ( <5
§L‘/“/4 MWZZ Q2 isible, bt 1 F
ol o{}mf Novmall Y
Lo 4 9. In scientific notation, 2,450,000,000 = ?
&, 4 22 579,[3 /549)*"/(7}] m A (2x 107) + 450 t 7
10 L 7250 B. 245x 107 q}g//{(, W
4. On Saturday 5id received his pay and spent Y of it. On (2x10) :' 450
Sunday he spent 2 of the remaining money, and on E %jg: :gm

Monday he spent 2 of what remained from Sunday. If

10. A box of cereal contains 18%4 cups of cereal. At most,

$4 then remained, how much pay did he receive origi-

nally? WD fk bﬁf/é [l\/ A’I’A j how many persons can you serve from this box of cereal
A $I12 if each serving must be at least % cup!

B. %16

Sl sw M T
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M'
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I, H2x-3 =12, thenx=?

A 20 Ax =[S
B._ 45

s Y=72<
B. 9.0
E 150

12. Vivian made 63 free throws out of 89 attempts during
the basketball seascn. What percentage, to the nearest
percent, of her free throws did she make during this sea-

| éfﬁ - 0. 707865

,\/eed 1 ﬁﬂ‘“‘% wple

I3. Karen spent 2/3 of her allowance on clothes and /5 of
her allowance on cassettes. VWhat is the difference (lar-
ger minus smaller) between the portions spent on
clothes and on cassettes?

. s );%Wﬁn/(/( P
IIS 5L4,H7fﬁ-—c/7"_a/\/
~olls
{

A 41%

B 63%
7|%
5. 89%
E. 98%

D. 1I/15 2z _ L _te 3=
E’ 1355 3 3 s /5
"7//5'

I4. Koko has $250 to spend on photo equipment. How
much money would she have left if she buys a $140.00
camera and must also pay 8.2% of the $140 in sales tax!

98.52 ido. e
G. $101.80 X .88
H. $110.00
[ siiso i1 18
K. $13005 .

I5. A rock group gets 30% of the money from sales of their
newest compact disc. That 30% is split equally among the
5 group members. If the disc generates $1,000,000 in
sales, how much does one group member receive?

08 &0

A $ 30,000
B. $ 50,000
$ 60,000
$200,000

E. $300,000

j;/ﬁpﬁ&"’/é-’ é‘gw

2o — 1S1.48= F8LL

[6. If the probability that it will rain tomorrow is 0.7, what is
the probability that it will NOT rain tomorrow?

Fro bagy i Ten &€

A 00
@ gé ﬁefZ/é’ ens
: 17 O pA

NerER

17. Which of the following arranges

ascending order? /45567\4&17 /ﬁl‘f%’d«?— =
/‘J/A’gé /50 O M

o H. 584113577 .
dm,uﬁ [ 5/7 <58 < 4/13 P e A er 8991, 2 TN
Cloae A~ /D

4/!3 <5/8 <57
[8. What is the average of 3/8 and 0.065 ?

2{70—

7%;,
e

Jhree | F. 5/8(5/7 <4/13-A0
FAploY G SITc4/13 <5i8 wP

A. 0.05125 Ut ik
B 0.1825 :
=
/'0.22 —_— & 375;——

D. 0375 e © 6 i3

E. 05125 e LD o
= o
.4 4 o L

19. You have been asked to make punch for a wedding re-
ception. The punch recipe calls for 6 parts fruit juices to
2 parts soda. To make 24 quarts

quarts of soda should you use?
A3

FPar TS fe
(s Frud Tee

.
Guairts efthis PUnCh,

Wl t,

G

noYY IllﬂhI,

o 12 oty T etz T B
- Sede. 2 - Z - 1
wloly-~ etz 8

20. If c is a positive integer that divides both 75 and 90, but
divides neither 18 nor |0, what should you get when you
add the digits in ¢ ? i

9o

& oo G = b 25 q/\/o
4-6/ 7(4 S = ‘4/ fs s

e Aviles BTE 0478
@[ /(/ﬂfa//\/%e‘/%

Wo /6 orr U,
[ +5= 6
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ACT ARITHMETIC PROBLEMS Il

FRACTIONS, DECIMALS, PERCENTS AVERAGES, YARIATION, ETC.

Anne earns $5.00 per hour, but 25% of her earnings are
deducted before she receives her take-home pay. How
many hours must she work in order to take home ex-

::1:1)’360.00? a _75,('5,7() - _ﬁé@p&

GRye g.75x =17
% et Y= 12lp75=]k

K.. 64

A vendor has 14 helium balloons for sale: 9 are yellow, 3
are red, and 2 are green. A balloon is selected at ran-
dom and sold. If the balloon sold is yellow, what is the
probability that the next balloon, selected at randem, is

also yellow?
qg-l = 8

ok be B
. . Wheﬁ’

Ho 5 ) These
WONt

8
* Ly vﬁ

For each day on your newspaper route you receive
$10.00 plus a fixed amount for each newspaper you de-
liver. Currently you are earning $18.00 per day for de-
livery of 80 newspapers. Today you are assigned to de-
liver 20 additional newspapers per day. WWhat will be

your new daily earnings?
F0.10 eilra

6. Last month, Ellen's commission checks were $120, $150,
and $210. In the same month, Bob's commission checks
were $133.67, $157.89, and $161.44. Whose commis-
sion check average was greater and by how much?

Whorsy—
ygo+3= b0

H. Bob's by $ 8
Yz +3= /1S

Ellen’s, by $ 3
Ellen’s, by $ 9
7. What is the largest possible product for 2 even integers
whose sum is 34 7

17417 =

F.-——Bcrb-rby'$—2‘7“‘?’
G. Bob's, by $23

F. 64
8 ilba3Y

Ky (B Vo= 28%

B. You want to make a casserole consisting of | type of
meat, | type of cheese, and | type of noodle. You have
available 4 types of meats, 5 types of cheeses, and 6 types

of noodles. How many different types of casserole are
possible?
A 4 Li < é _
B. 15 ¥R ¥ b= 2L o
C. 30
B, &0
120

9. What is the difference when |% of 90 is subtracted from
the product of 0.1 and 90 ?

A po 48 b= pom Ol %90 = Q0
- $19.00 ~ ¢ ' 9

$20.00 Yo+ Lo = 00 *al = 4low 009 0, 0| > 90 :_;;0—-——_-
E. $22.50 a & 0,00 +40 241 Zo s

Two whole numbers have a greatest common factor of 6
and a least common multiple of 36. Which of the follow-
ing pairs of whole numbers will satisfy the given condi-

tions!? /6’/-,9 CESS 0} éﬁmi”’zfj—'bd
F. 4and 9 — b A%T7 ’c”"’”'*'

G. 9and12— & M7 Wkoj—lj‘

12and I5€~ Db AT M

[2and 18 .

18 and 24(——-3_-4 AT mm@é’ ﬂ’Z"f
Running at a steady pace of 90 seconds per quarter mile,
how many minutes would it take to run 2 miles?

G120 0 secs q b0
8.0 z—r—"‘" W e = "E_- }
c. 72 — : .,
O 45 . K L P,
E 30 |

Fboxz = 720 L bo=]2

10. ln a shlpment of 1,000 light bulbs, 1/40 of the bulbs were
defective. Whart is the ratio of defective bulbs to nonde-

fective bulbs?
F 2_l5 i D“‘fc&f;v’a-

| "o whel,
@ Vher ¢ fore
= 39

Ho o=\
NN~

w'__
o

.S
f=]

._
-la

0

Mop-Defectie 31

~
b

-

defedive



I'l. ATV station conducted a telephone poll seeking viewers’
reactions t¢ a new show. Of the 750 people who an-
swered, 500 liked the new show, 100 disliked it, and the
rest were undecided. VWhat percent of those who an-
swered were undecided about the new show?

‘ CR) 20% 750

8% — boO
c. 6623% —— 7{0 = .20
D. 80% IST
E 150%

12. 1f 40% of x equals 80, then x = ?

A 3§ ﬁ(ga L{ ’)L = 3@
OF %~ 8o 0.4
E. 3,200

=2 2Zpo

13. The cost of electricity at the local utility company is 10
cents per kilowatt-hour for the first 100 kilowatt-hours
used in a month and 7 cents per kilowatt-hour for each
additional kilowatt-hour used. What is the cost for 500
kilowatt-hours used in | month?

00 % 40 Jo= A1°

F. $28.00
520$35.00
.$38.00 C,w st Ge07> Y2y
I~ $50.00
K. $85.00

L8+lo= 38

I4. WWhat fraction lies exactly halfway between 2/3 and 3/4?

Foo3/5
G. 5/ C 3 8,13 n

Ho7e 3 0 Tq iz i T
9/16 e ——m e —
17/24 Pa e, =

[5. The specific gravity of a substance is the ratic of the
weight of the substance to the weight of an equal volume
of water. If | cubic foot of water weighs 62.5 pounds,
what is the specific gravity of a liquid that weighs [25
pounds per cubic foot!

'25 | e _

>

[6. You are standing in line at the cash register to pay for a
bracelet priced at $15.99. A sales tax of 8% of the
$15.99 will be added (rounded to the nearest cent) to
the price of the bracelet. You have 20 one-dollar bills,
but how much will you need in coins if you want to have
exact change ready?

Ll 99 % |.08 =
l% %
63¢ | 7.2697 o 1727/

17. Whar s the least east common denominator for the fractions

1/12, 1/18, and 1/30?
Swat et
o whedt e ot
N sy laes?

B. 60
. 90
G A5 12 B $30
i " Sators
18. The average of a set of five integers is 16. When a sixth
number is included in the set, the average of the set in-
creases to |8. What is the sixth number?

I8 %:f(g = o

F.

G. 20

. 8

. 24 -

o2 -

ZB Bot+ T2 (03

19. In 3 fair coin tosses, what is the probability of obtaining
exactly 2 tails? (Note: In a fair coin toss the 2 outcomes,
heads and tails, are equally likely.)

Bo + 4

F 4

7
AE TSP . sy

H. I
T

2

3

¢

20. How many positive even integers divide into 96 with no

;ema:der? g Aﬂ:}f_é‘r‘ E,_—u_,\/ L‘)Z}%E
" LTS A te factir

\ Ters. Gdpoigs e
2ry?




I'l. ATV stauon conducted a telephone poll seeking viewers'
reactions to a new show. Of the 750 people who an-
swered, 500 liked the new show, 100 disliked it, and the
rest were undecided. What percent of those who an-
swered were undecided about the new show?

l6.

You are standing in line at the cash register to pay for a
bracelet priced at $1599. A sales tax of 8% of the
$15.99 will be added (rounded to the nearest cent) to
the price of the bracelet. You have 20 one-dollar bills,
but how much will you need in coins if you want to have
exact change ready!

~ o e :
s W o B1599 x |.oB =
. (s} 2Ll J ——— .
C. 662/13% __éff_ 750 T B. 8¢ ' a{
D. 80% T50 G Mo 2 ZC G2 oin S
E 150% , Z % B el
Q.20 = KO P e T T
i 12. 1f 40% of x equals 80, then x =? (f)j[ o _>6 7. What is the least common denominator for the fractions
\/ 1712, 1/1 d1/30? ;
X a2 mv‘g\m Wt /s 25
| 0% = 8o AN Sl e
B g2 A B[ eST Huwm be i
T L SEOEE) 200 = gg thuAt hHas /2, /8430
E. 3,200 2 2 : 5D, 18 s Facle s
E. 6,480
I3. The cost of electricity at the local utility company is 10 18. The average of a set of five integers is 16. When a sixth
cents per kilowatt-hour for the first 100 kilowatt-hours number is included in the set, the average of the set in-
used in a month and 7 cents per kilowatt-hour for each creases to 18. What is the sixth number?
additional kilowatt-hour used. What is the cost for 500 -
kilowatt-hours used in | month? # F. 18 X L /é NV — go
G. 20 G5 b
F.  $28.00 / ﬁ/ﬁ /ﬂ H. 21 ; )
G. $35.00 /ﬂ% 720 24 go+ g /8 &rq = 68
—H. $3800 %/pﬂ B2 il = T R .
J.  $50.00
K. $85.00 /[7 4+ Z 9 07L5 19. In 3 fair coin tosses, what is the probability of obraining

14. VWhat fraction lies exactly halfway between 2/3 and 3/4!?

s P 4

L e

_y F. 35 -
| B T e
H. 7/12 b; /39””"7-9 /4;/—3
Pl o B+9 = 17
— e 1724 iz L
S e

I5. The specific gravity of a substance is the ratio of the
weight of the substance to the weight of an equal volume
of water. If | cubic foot of water weighs 62.5 pounds,
what is the specific gravity of a liquid that weighs 125

pounds percubic‘food - l [-

AN Ratio is mf?%em?écaj,

B.. 1.25 CO/?)/,',;r,sgm
=20

D. 625 [ ud 7(“_ %= %

E. 125 ézrgl [25

2,5)

mwﬂ@{r( égﬂ,f%fa/aﬁ?!/

—c

exactly 2 tails? (Note: In a fair coin toss the 2 outcomes,
heads and tails, are equally likely.)

s
e

3 i Toss

*

20.

x

\.,2)3/% 6,8

How many positive even integers divide into 96 with no

remainder!
FHCTOR Ain bora)
F. 8 E/p@ foin7s are onz aap

G
P ) e i pez ) 96

Rl

K. 12

///’7_’_$

262
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ACT ARITHMETIC PROBLEMS II

FRACTIONS, DECIMALS, PERCENTS AVERAGES, VARIATION, ETC.

I.  Anne earns $5.00 per hour, but 25% of her earnings are
deducted before she receives her take-home pay. How
many hours must she work in order to take home ex-

act|y$60.00?r_zz7f T LSS e e
- “he gets 75,

6. Last month, Ellen’s commission checks were $120, §150,
and $210. In the same month, Bob's commission checks
were $133.67, $157.89, and $161.44. Whose commis-
sion check average was greater and by how much?

F. Bob's.-by SR é/ﬁ[):—}; /60

& S : G. Bob's by $23

—=u el 7 e HoBobsby 38 45323/
ek e (5,7;)-—;6;0. 22 i Eilene iy 3 b
S ~x = /6 —> K. Ellen’s.by$ 9 9

2. A vendor has |4 helium balloons for sale: 9 are yellow, 3
are red, and 2 are green. A balloon is selected at ran-
dom and sold. If the balloon sold is yellow, what is the
probability that the next balloon, selected at random, s

also yellow! :
Q4342 = 14
— | - |

A f ot 1>
ave Yelloed

e
= ey

K. 9 3
will Wl

7. What is the largest possible product for 2 even integers

-:\:. whose sum is 34 ? \_RL i \—] ::._BLJ

LR 18 + = 2Y
) e |Bx1b=288
s~ K. 288

3. For each day on your newspaper route you receive
$10.00 plus a fixed amount for each newspaper you de-
liver. Currently you are earning $18.00 per day for de-
livery of 80 newspapers. Today you are assigned to de-
liver 20 additional newspapers per day. VWhat will be

: — 3
your new daily earnings? ,VE&(/ 70 “74/5/ 05{,74'»

A 31000 70U IS Earncp Sor eacs

S 188 yeuwspre 35 o4
—> D. $20.00 fﬁﬂﬁ + 80 =$0./0 per

= bowio oo sl

8. You want to make a casserole consisting of | type of
meat, | type of cheese, and | type of noodle. You have
available 4 types of meats, 5 types of cheeses, and 6 types

of noodles. How many different types of cassercle are
possible? ; iy
Rrmutations
A. 4 4
B 15 mu/f:'/a/‘/' the
@0 et
D. 0 Elements
—»E 120 / 2_0

9. What is the difference when 1% of 90 is subtracted from
the product of 0.1 and 90 ?

0-1 ¥G=90

A 899I
B. 89l ‘

seclne LGRS e
[EJ. 3.09 5“1

4. Two whole numbers have a greatest common factor of 6
and a least common multiple of 36. Which of the follow-
ing pairs of whole numbers will satisfy the given condi-

tions!? PI"ﬂCé—sS ﬂf é‘ﬁ'ﬂ?/)\/ﬂﬁa/t/
F. 4and 9 — b 1ot & Factor oF éﬂ%
G. 9and 12— & ot A FfacTor of 9

Ho 12and 1524 popt ¢ o Wiple 6t /5
>J). |2and I8

K 18and 28— 3/ ot & maltiple 21 22/

5. Running at a steady pace of 90 seconds per quarter mile,
how many minutes would it take to run 2 miles?

o B ouArtess in 2 r7i/es

— A .
S gg Go secondgs EGusls /o5 i
S s

10. In a shipment of 1,000 light bulbs, 1/40 of the bulbs were
defective. What is the ratio of defective bulbs to nonde-
fective bulbs?

.| defective

F. 5 40 B e
w0t

0 Son-
dete T VE

P@ ;Cecf Ve /_ ]

e

notdeledtve 39
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